Question Paper Preview

Notations:

1.0ptions shown in green color and with +" icon are correct.

2.0ptions shown in red color and with # icon are incorrect.

Question Paper Name:
Subject Name:
Creation Date :
Duration :

Total Marks :

Display Marks:

Share Answer Key With Delivery Engine :

Actual Answer Key :
Change Font Color:
Change Background Color :
Change Theme:

Help Button:

Show Reports :

Show Progress Bar :

TG ICET 2025 9th June 2025 Shift 1
TG ICET 2025
2025-06-09 13:50:15
150

200

Yes

Yes

Yes

No

No

No

No

No

No

TG ICET 2025

Group Number :

1

Group Id : 97410919

Group Maximum Duration : 0

Group Minimum Duration : 150

Show Attended Group?: No

Edit Attended Group?: No

Break time : 0

Group Marks : 200
Analytical Ability

Section Id : 97410955

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 45



Number of Questions to be attempted : 45

Section Marks : 75
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 974109415
Question Shuffling Allowed : No

Question Id : 9741093745 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 20)
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SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT0F DTS

Note:  In questions numbered from 1 to 20, a question 1s followed by data in the form
of two statements labelled as (I) and (II). You must decide whether the data
given i the statements are sufficient to answer the questions. Using the data
make an appropriate choice from (1) to (4) as per the following guidelines:

(a) If the statement (I) alone is sufficient to answer the question, but (IT) can’t give
the answer Mark your choice (1).

(b) If the statement (II) alone 1s sufficient to answer the question, but (I) can’t give
the answer Mark your choice (2).

(¢) Ifboth the statements (I) and (II) are sufficient to answer the question but neither
statement alone 15 not sufficient mark your choice (3)

(d) If both the statements (I) and (II) together are not sufficient to answer the

question and additional data are required, mark your choice (4)
arad: 1 ook 20 S08 @ 9O @%;Lem: we @), @ Gois (1), (II) & en fie
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& ponh G SrgEssyE Aargren &I (1) dood (4) S8 HBS sy
Jod Baboc..
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Sub questions

Question Number : 1 Question Id : 9741093746 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT0F DTS

Find the area of the equilateral triangle.

DAV G2 PFTOj0 S8 ol

(I) Each angle of the triangle 1s 60°.
&5 SEao GI0E) DS Fwo 60°.

(I) The height of the triangle is 4 cm.
&5 §2020 CINE), B 4 V0.

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 2 Question Id : 9741093747 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT03 DU



What 1s the selling price of the shirt?

£4 65’5”6 &Jmééo D8 Joes?

(I) The marked price of that shirt 1s Rs.800 and the profit percent 1s equal to 1ts
discount percent.
£5 :S‘S“b 25606 Do dr. 800 i AR erdTdo Bl TPAR e‘_’sﬁoﬁ’.@

FEAS DaAFrdo.

(I) The cost price 1s Rs.600.
& 57 §3) Do 6r.600.

Options:
1. % 1
2. %2
3.3
4. % 4

Question Number : 3 Question Id : 9741093748 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G0 DU

Is the perimeter of the rectangle more than 65 cm. given that length of the rectangle 1s greater
than its breadth?

&5 5 SB00Po aI0g) TE) DEEYED) IS &) Ay & BF SB0R0 TINE) Dk Sos

65 2o.a0. £:9) A8 O Got0T?

(I) TIts length 1s less than 16em.
) ST 16 20.80. £3) By,

(I) Its breadth is greater than 10cm.
o Dy 10 Do.. 83y I8y .

Options :



1.9 1
2. % 2
3.%3
4. % 4

Question Number : 4 Question Id : 9741093749 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GZ0T DU

For real numbers ¢ and b.1sa < b ?

oI eda) ";»30;})5@53 a, bt a < b epnoo?

(I) c is a real number and a® + b? + ¢%=0.
€ 28 TR Vo§ awdoiw a’ + b? + ¢?=0.

(IT) ¢ is a real number and ¢ > a — b.
€ 208 7R Dof awBoiv ¢ > a — b,

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 5 Question Id : 9741093750 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GZ07F DT



How many Sundays are there in that year?

€5 2D0aIEIG0eS" ) BBTTRD EOY?

(I) February has 29 days in that year.
€5 DoDEIG0eS D DB 29 Faren S0,

(II) That year starts on Saturday.
&5 DoDB 00 DTG0 DVETB0d.

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 6 Question Id : 9741093751 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GZ07 DTV

In AABC. whatis 2B ?

AABC €° £B Joey?

D) 24 = 60°

(I) AAC 1s an equilateral triangle.
AABC 2,8 Ra0eraam agbao.

Options :
1. %1
2.9¥ 2



3. % 3
4. % 4

Question Number : 7 Question Id : 9741093752 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT0F DTS

What 1s the remainder obtained when the number x 1s divided by 9?7

X €9 R0 9 o erHodine AV 20 Doed?

(I) When x 1s divided by 3, the remainder 1s zero.
X &0 3 8 &rfow)da) 3o M) .

(II) The sum of the digits in x 1s 30.
x €5°2) e90Ze®) Awedo 30.

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 8 Question Id : 9741093753 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT0T DU



Find the average of 100 natural numbers.
100 dareas Doage WD S8 od.

(I) The numbers leave remainder 1 when divided by 6.

& DoDFED 6 S PRI T 1D QFow.

(I) They start with the number 7.

QD 7 F DnovHTEow.

Options :
1. % 1
2. %2
3.%¥3
4.9 4

Question Number : 9 Question Id : 9741093754 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT03 DU

Find the discount percent announced on the list price of the article,

&2 WD VEAS DO P PESoDD B0 T gmﬁbc}d.

(I)  The discount percent 1s equal to profit percent of that article.
& DY) BHoY) TG0 92080 PP eE TUH0 ) a0

(I) The discount on the article 1s Rs.300.
&5 D) D Bo 6. 300.

Options :
1. % 1
2. %2
3.%3
4. 4

Question Number : 10 Question Id : 9741093755 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT0F DTS

What 1s the average of the numbers p, g,7 and 8?7

p,, T 0Boiw § 9D R0 1ED oed?

1) 8(p+q+s)=128andr =8

8(p+q+s)=128008ci0r =8

() p+q+s=r+64

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 11 Question Id : 9741093756 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT03 DU



What 1s the cost price of the television ?

e5 cﬁ:ﬂﬂﬂjﬁﬁ cﬁnﬁb 5“.135121@ Joes?

(I) The selling price of the television is Rs.50000.
&3 AIPOG0YD a0} So Do dr. 50000.

(I) The profit on 1t 1s 10%.
o erdio 10%.

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 12 Question Id : 9741093757 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GZ07 DTV



What 1s the ratio of the velocity of train A to that of train B?

0w A 0Ig), Dfo andodn oo B ding) DS (o) i@ doed?

(I) The ratio of the length of train A to that of train B 1s 3 : 2.
gen A 038, ey andain Jew B aing), TFEPHs o g 3 : 2.

(I) ' The time taken by train A to cross train B when they are moving in the same

direction 1s 4 times the time taken by A to cross B when moving in opposite
direction.

wt B3 DOIEIRDR) D Ten A, T Bl crentisd HE ok e
&9 (A5 &aes” DOIPER) D B ATrtne)S) D 2a0airdS 4 3o

&00).

Options :
1. % 1
2.¥ 2
3.%¥3
4. % 4

Question Number : 13 Question Id : 9741093758 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT03 DU



How much money each person contributed to the feast?

203 aﬁ &3 D0o5) Jod Awedo ﬂima D8oidTn?

(I) ~ All contribute equally to a total of Rs.7500.
D8 2,500 DA, i $HD Ango ar. 7500 38od.

(II) Had there been 5 persons more. each person’s contribution would have been

reduced by Rs.50.

8 E (A5 5 DX Sf5r0 L) I G0k &) LONS PS 2.5 6 dr.50
85, O 3o dy 3\ 6.

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 14 Question Id : 9741093759 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G0 DU

What percent of 64 1s x ?

X e9md 64e5° Doed Fredo?

(I) 200 percent of x is less than 1.
x €°200 Fedo 0908 1 53 B .

(IT) x 1s 10 percent of 10.
10 &5° 10 330 DA x.



Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 15 Question Id : 9741093760 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT0F DTS

In a company C, the average age of Class-I employees 1s 54 years and the average age of
remaining employees 1s 34 years. What is the average age of all the employees in C?

w8 S0 C&° -1 &b Drien Habay 54 Nodeoren by e ed{brod

it iRy 34 oo, CeS™D af‘a‘lgmmma R SADRDY oes?

(I) There are ten Class-I employees in C.
C6° R-1 &850 DO 0B &) .

(I) Number of other employees at C is four times the number of Class-I
employees in C.
C & drfer &8yhe Voa)y €3O C &7 TR 6fjhe Nong T

ot.

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 16 Question Id : 9741093761 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT0F DTS

What 1s Anil’s rank from the top in a class of strength 407

40:008 f0) 28 00" Paod e D08, 0505 does?

(I) There are 10 students between Anil and Naveen.
€95 0B HAD © Y 10 08 DTEIEHRD SO,

(I) Naveen is 20" student from the top.
Dot 20 DY DOD.

Options :
1. %1
2. % 2
3.%3
4.4 4

Question Number : 17 Question Id : 9741093762 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GTF03 DU

6 persons A,B,C,D,E and F sat around a round table facing the centre. Are B and C sat
adjacent to each other?

edm®d o 4,8,C,D,E Db Feo a8 a@rst) oy e Segrdawdor

57y M. B dndain Cen 2,50 p5) & w507 o7

(I) E has C and F on either side.
CaBosw Feo ES 3608 rod.

(I) B satadjacent to F.
FS @Sbmblﬁ) B.



Options :
1. % 1
2. % 2
3.%3
4.9 4

Question Number : 18 Question Id : 9741093763 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT0F DTS

In the adjacent figure what is the valueof P+ @+ R+ §?

QYOS P+Q +R+S

D) Joeh?

) P+Q=R+S$

(I) A+B=90°

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 19 Question Id : 9741093764 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G0 DU



A. B and C are siblings. How many brothers does C have?

QO H5EHrn A, B awdasn € ew Frntnen. CH Jodavot Fomen Som?

(I) A has two sisters.
A% agm Fedanenen.

(I} B has only one sister.

B&) 28 aé 60 Sod.
Options:
1. % 1
2. %2
3.3
4. % 4

Question Number : 20 Question Id : 9741093765 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G0 DU

How many days will the person B take to complete a piece of work?

8 DA PY Sow B &) o8 Dy Haven H0L008r?

(I) Worker A will take 16 days to complete this work.
A e 53 038 DI 1Y SN 16 Taren S50,

(II) A and B working together will take § days to complete the same work.
3 DA A Bt Bew agdr 593 8 Fwed” Yradabio.

Options :
1. % 1
2. %2
3.3



4. % 4

Sub-Section Number : 2
Sub-Section Id : 974109416
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9741093766 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT ABILITY
2. Problem Solving ‘&)&‘.}J.ﬂ“@ ALY

A. Sertes (Analogies/a:b::c:d relationships) BEAED
(B.€,15):(C,E,1.6) :: (E.G,1.4):

Options :
, = (G.K 1.571)

- (G,K,1.57142)

G,K,1.571428
, o ilkB )

(G,K,1.5742)
4. %

Question Number : 22 Question Id : 9741093767 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3)3“5 FSD

A Series (Analogies/a:b::c:d relationships) PEAED
(3C. 14N) : (14N, 39M) :: (39M, B4F) :
Options:

g
| o (B4F.155Y)



(84F. 156Y)

2. %
84F. 157Y
3 ( )
(84F. 160Y)
4. %

Question Number : 23 Question Id : 9741093768 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT ABILITY
2. Problem Solving ‘&)&1)3“6 AT

A. Series (Analogies/a:b::c:d relationships) BEAEL)
AB 1L BES = ED 2

Options :

., x DEIO

DE 11

3 v DE23

DE 14

Question Number : 24 Question Id : 9741093769 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}3‘6 R TARY

A Series (Analogies/a:b::c:d relationships) PELED



13440 : 10080 :: 8064 :

Options :
1 % 6721

, % 6725

6724

6720

Question Number : 25 Question Id : 9741093770 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘:’06&.‘:3‘5 D

A. Sertes (Analogies/a:b::c:d relationships) BEALED

67 . 219 | 346
260 "' 1300 2405

Options :

127
1299

128
1299

128
629



127
1300

Question Number : 26 Question Id : 9741093771 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3)3“5 FSD

A Series (Analogies/a:b::c:d relationships) PEED

K7D : =AH2H T T193
Options:

N6F

NI2F

N8F

NOF

Question Number : 27 Question Id : 9741093772 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY

2. Problem Solving Ei)&j_)ﬂ“?g AT
A. Sertes (Analogies/a:b::c:d relationships) BEAED)
2+V6 : 5V2+4V3 :: 1 404/3 + 49V2

Options :



22 + 96

21 + 9V6

20 + 96

18 + 96

Question Number : 28 Question Id : 9741093773 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}3‘6 R TARY

A Series (Analogies/a:b::c:d relationships) PELED

CZAR : XAZ1:: ROME :
Options :

.« ILNL
INLL

LMV

IILNV



Question Number : 29 Question Id : 9741093774 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3)3“5 FSD

A Series (Analogies/a:b::c:d relationships) PEAED

Options :

0

fad

Question Number : 30 Question Id : 9741093775 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY

2. Problem Solving ‘&)&l‘:ﬂ“@ FSD
A Series (Analogies/a:b::c:d relationships) PEAED
PP : BEX D I

Options:

1. % GV



GW

GX
3. %

GZ
4, ®
Sub-Section Number : 3
Sub-Section Id : 974109417
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 9741093776 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘A)E}Jﬂ“@ S

AL Series ( Odd things out) LD

Options:

4

w | =

o | =

=N



Question Number : 32 Question Id : 9741093777 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)E}Jﬂ“@ D

A Series ( Odd things out) FEAOEL

10 18 28 40 54 70 88

6 '11'18"'28"’38"51 "' 66

Options:
88
66
1. %
40
5 28
18
3. % 11
70
4.8 21

Question Number : 33 Question Id : 9741093778 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)E}Jﬁ“@ D

A Series ( Odd things out) FEAOEL

37 50 65 74 101 122

12’58 72 82" 110" 137

Options :
1. %



50

56
74
82
2. ¥
65
72
3. %
122
132
4. %

Question Number : 34 Question Id : 9741093779 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ?’\)En‘ﬁ“?g IS

A Series ( Odd things out) Fraoew

Hyderabad , Chennai, Bhuvaneshwar, Pune, Patna, Bengaluru, Bhopal
ST, B) o, 26, Qred. ). Boelrdd, HFS

Options :

Patna ey
1. %

Bhopal HIeS
2. %

Hyderabad  zrddorerd
3. %

4. &



Pune o]

Question Number : 35 Question Id : 9741093780 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY

2. Problem Solving ‘&)ﬁ.’:ﬂ“@ S
AL Series ( Odd things out) LD
4, 13, 29, 54, 90, 137, 203
Options :
13
’| e
5 % 54
137
3.¥
203
4, ®
Sub-Section Number : 4
Sub-Section Id : 974109418
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 9741093781 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A Series ( Missing numbers in sequence or series)
Fraoew



L.B.Z TEE

Options:
X

1. %

2. % x
%

3.

4, % A

Question Number : 37 Question Id : 9741093782 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A Series ( Missing numbers in sequence or series)

Fraoen
1 1 2 1
3 e 3 Ly —%5
Options :
1
M =
1. % 2
1
wlfs
2. % E
2
s
3

: MCQ Option Shuffling : Yes



4. -

Question Number : 38 Question Id : 9741093783 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Fraoen

2.°5.32.27 58121,

Options :

246

1. %

-3
ad
o0

248

Question Number : 39 Question Id : 9741093784 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A Series ( Missing numbers in sequence or series)
Fraoen

Xt —dx+4 x*—6x+9, x2 —10x + 25, x% — 14x + 49, X% —26x +169

Options :



x? —18x + 81

-
5 K 22x + 121

x2 —20x + 100

x%2 — 24x + 144

Question Number : 40 Question Id : 9741093785 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A Series ( Missing numbers in sequence or series)
Fraoen

20, 60, 120, 200, . 420, 560, 720

Options:

% 260

Question Number : 41 Question Id : 9741093786 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
A Series ( Missing numbers in sequence or series)

Fraoen
i) W 215 340 511
*stynt 17’ i -
Options :
115
1. % 23
118
5 % 24
120
3. % Zs
124
26
4,

Question Number : 42 Question Id : 9741093787 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A Sertes ( Missing numbers in sequence or series)
Feaoen

54, 135, 199, 248, 284, 309,

Options :
364
1. %
23

2. ¥

: MCQ Option Shuffling : Yes



Question Number : 43 Question Id : 9741093788 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A Series ( Missing numbers in sequence or series)

Fraoew
27, 30.37..50. 69 135
Options:
93
1. %
5 98
. 108
3. %
117
4, %

Question Number : 44 Question Id : 9741093789 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A Series ( Missing numbers in sequence or series)
Fraoen



Options :
1
3=
1. 9
2
g —
9
2.
3
g
9
3. %
4
g
_ 9
4, %

Question Number : 45 Question Id : 9741093790 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A Series ( Missing numbers in sequence or series)
Fraoew

eyl T | W Y
9 7 3

Options :
29=

1. % .
31—

: MCQ Option Shuffling : Yes



33

3. v

37—
4, ®
Sub-Section Number : 5
Sub-Section Id : 974109419
Question Shuffling Allowed : No

Question Id : 9741093791 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 48)
Question Label : Comprehension

SECTION - A : ANATLYTICAL ABILITY

2. Problem Solving Ei)&f)_‘:.ﬂ“?g AT

B. Data Analysis dgrod DI



The following table shows the production (in tonnes) of cereals from 2019 to 2024 m a
village. Based on this answer the questions from 46 to 48,

WSS oo 2019 ol 20248 dodydo S8 ed\d wowd SRTTR

(&Jmlveﬁﬁ) & 308 :aegs AP0, & oo wrrdorr 46 dvod. 48 Hddxie %) 0D

mywm@bsoé.

(in tmmes)(éamlveﬁﬁ)
= L Rice Wheat Barley Qats Maize
Year %o.l 58 fodo | e | &6y | dwgdw)

2019 2415 825 530 410 740
2020 2320 940 480 590 760
2021 2617 1060 460 610 775
2022 2720 1120 520 630 790
2023 2516 1040 670 720 810
2024 2810 960 720 810 825

Sub questions

Question Number : 46 Question Id : 9741093792 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY

2. Problem Solving Ei)m.ﬂ“?g PN TATY
B. Data Analysis dgrod DI

The average production of rice in the given period ( in tonnes) is

A\ 570 I{HOS" HB A rfkw &S AT (L) ')



Options :

2566
3.¢

2766

Question Number : 47 Question Id : 9741093793 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT. ABILITY
2. Problem Solving ‘&)&J}ﬂ“& AT

B. Data Analysis Ggro? DTN

In the year 2022, the cereal that yielded highest growth percent over the previous year is

20223 o 008, w0 Sovothody Roiddyod” TB\pch Bbwie’ 3 Ty divg)
A Tdo @éﬁééo?
Options:

Barley

g8
1.4 =

Oats



‘Wheat
& s

Maize
V) D
4, % 6%

Question Number : 48 Question Id : 9741093794 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)m‘ﬁ‘é AT

B. Data Analysis OTrod DI06
The percentage of increase in rice production in 2024 over 2023 is approximately

2023 & 8) 2024 &' 56 636" déardeso Tdo egraneY™

Options :

B.92

11.66

10.67
3. %

12.02

Sub-Section Number : 6
Sub-Section Id : 974109420
Question Shuffling Allowed : No



Question Id : 9741093795 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (49 to 51)

Question Label : Comprehension

SECTION - A : ANATYTICAT. ABILITY
2. Problem Solving ‘&)mﬂ“g AT

B. Data Analysis GFF0F DTN

The following pie chart shows the marks obtained by a student m five subjects and the total

marks are 900. Based on this information. answer the questions from 49 to 51.

& 308 0-080 w54 Qoj0s 5 NgD 6" o 900 )% ©dod Arm) O

APUR0d. & parardo Bardor 49 ot 51 D65 (1 ) VL VPP VG
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N

g ey o e
it St R e
oy e o, o -

o bt ] e
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e o —
3 N o oy v
e A
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i
N
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Chemistry

Graed
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r 7 English
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Sub questions

Question Number : 49 Question Id : 9741093796 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY

2. Problem Solving Ei)mfl“?g S

B. Data Analysis G037 DTN



The total marks obtained in the two languages is

Gocd e’ VDD Do A e

Options :

360

2. ¥

L x 280

4. %

Question Number : 50 Question Id : 9741093797 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Ei)mﬂ‘?s S

B. Data Analysis Og@rod D306

Marks obtained in Chemistry are
EaRd TS SN Bd) e
Options :

160

1. %



180

Question Number : 51 Question Id : 9741093798 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT. ABILITY
2. Problem Solving Ei)&j_‘:ﬂ“?s S

B. Data Analysis Ggroz DI

The marks in Mathematics. Physics and Chemistry put together is

fieddo, 23S TR0 060 6P TP SurcoS’ SO Ado Arty e
Options:

650

600

L
L
=

Sub-Section Number : 7
Sub-Section Id : 974109421
Question Shuffling Allowed : No

Question Id : 9741093799 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (52 to 55)
Question Label : Comprehension



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Ei)mﬂ“?s S

B. Data Analysis Orod DINE

The following Venn-diagram gives percentage of people speaking different languages in a
city. Using this data answer questions from 52 to 55,

28 s Def.’)él TA TG 6 o S8 I Ao faéscio 20008, &

dgroz) Gadirfow) 52 Ao 55 6 o 93 S 2O,

Telugu
derd

English

3
Spanish
3"3:)51
Malayalam
DRAIPFo Tamil &ao¥o

Total population of the city is 200000
awdo id axrer 200000

Sub questions

Question Number : 52 Question Id : 9741093800 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Ei)mﬂ‘?s S

B. Data Analysis O@rod DIN6



Find the number of people who speak atleast three languages.

S0 BT GPRD JPEPE T8 Doy $08) od.

Options :

42000
1.¢

54000

44000
3. %

48000

Question Number : 53 Question Id : 9741093801 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT. ABILITY
2. Problem Solving :::-mi'r@ S

B. Data Analysis Ggroz DI

Find the number of people who can speak exactly any two languages.

“@6(@} DD otk PRV A Arerd o8 '&)o&:}gé: g8 bo&,.
Options :

78000

1. %

84000



Question Number : 54 Question Id : 9741093802 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Ei)&j_‘:ﬂ‘?s S

B. Data Analysis Og@rod D306

Find the number of people who can speak only one language.

28 w8 TR0 Jrgd Arerd ooy $08) od.

Options :

80000
74000
78000

76000

Question Number : 55 Question Id : 9741093803 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘é}&l‘:ﬂ“ﬁ S

B. Data Analysis Ggroz DI



Find the number of people in the city who cannot speak Hindi.

&2 dioeS” iPoBD APEPESD T8 Dowydd k08 od.

Options :

86000

80000
4, =

Sub-Section Number : 8
Sub-Section Id : 974109422
Question Shuffling Allowed : No

Question Id : 9741093804 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (56 to 60)

Question Label : Comprehension

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving :::-m;-‘ré S

C. Coding and Decoding Problems
§coh andain aEcoh Ddavgen



[n the English alphabet, a code is designed as follows;

() If the nt*letter is a consonant, then it is coded as (n + 10)™ letter cyclically in the
clockwise direction and
(i)  Eachvowelis coded as the next vowel cyclically in the clockwise direction.

For example, D15 coded as N, T 1s coded as D, E 15 coded as Tand U 1s coded as A.
Based on this code. answer the questions from 36 to 60,

ot} wg8sr0s wé §E& & & 08 o EriTedomre.

() nd wgdo fis P wowd. (1+10) & LI A sgavor 86
SabERA. Bk
(i) 50 0ty T ST weind 2B tsabor §6 Sosnde.

g, DN, T Dre, E o Irei 2080m0 U A 1 §6 Saheodb.

& S6 esgrdore 56 006 60 264 o 08) 0 aTe00 f()bso&.

Sub questions

Question Number : 56 Question Id : 9741093805 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)E}Jﬂ“& By LT

C. Coding and Decoding Problems
§coh andain 8 Coh Davgen

The code for INDIA 1s

INDIA & §&
Options :

SXNSK



OYNOE

3 OXNOE

OXMOE

Question Number : 57 Question Id : 9741093806 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&1}3“5 D

C. Coding and Decoding Problems
§coh andain c8'coh Ddawgen

The code for TGICET is

TGICETcaos), g&
Options:

DRCSMI
,, DQOMID

DRONID

CDOMID

Question Number : 58 Question Id : 9741093807 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)m.ﬁ“?g By AR

C. Coding and Decoding Problems
§coh andain CECoh Davgen

The code for EXAMS is

EXAMS c3g), &

Options :

IHEWC
1.4

IGEWC
2. ®

. » SHOWD

IGEWC

Question Number : 59 Question Id : 9741093808 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)&3}‘3“5 S

C. Coding and Decoding Problems
§coh andoin aEcoh Ddavngen

The code for NALGONDA is

NALGONDA c30¢), &

Options :
1. %



XEVQUXME

XEVQUYNE
2. ®

XEVRUXNE

XEVQUXNE
4. &

Question Number : 60 Question Id : 9741093809 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}3‘5 S

C. Coding and Decoding Problems
§coh andain aEcoh Ddavgen

The code for PRAYAGRAIT 1s

PRAYAGRAJ a3, &

Options :

ZBEJEQBET

/ZBEIERBET

ZBEIEQBET



ZBEIEQBES

Sub-Section Number : 9
Sub-Section Id : 974109423
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9741093810 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)m.ﬁ“?g S

C. Coding and Decoding Problems
§c.ofi anBoin CECoh DIFD

In a certain code, the word SHIP 15 coded as 208 and the word NOTE is coded as 216. Then,
the code of the word BACK 15

w538 060 86 & SHIP & 208 i, NOTE & 216 iy §6 ddipet o8 85 &
BACK diog, 86

Options :

196
158
86

68

Question Number : 62 Question Id : 9741093811 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)m.ﬂ“?g By AR

C. Coding and Decoding Problems
§coh andain CECoh Davgen

In a code language if GRASP is coded as TIZHK. then the word that is coded as OVTZXB is

2534 86 o GRASP & TIZHK e 86 82320, OVIZXB e 86 Saheads ko

Options :

1 » LEAVEN

, » LEAGUE

3 @ LEGACY

LEDGER

Question Number : 63 Question Id : 9741093812 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)&1}3“5 S

C. Coding and Decoding Problems
§c.of andoin CECohH D5

In a specific code language, if RATIONAL 1s coded as CLETZYLW then the code for
EXPERIENCE in the same code s

w8 ﬁ)gfﬁ@é §& & RATIONAL & CLETZYLW re §& S, EXPERIENCE abog)
g6



Options :

OIZOCTOYMO

QIBDUQZOQP
2. %

OHZBSOXMOP
3. %

PIAPCTPYNP
4.

Question Number : 64 Question Id : 9741093813 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)m.ﬂ“?g By AR

C. Coding and Decoding Problems
§coh andain CECoh Davgen

I LENGTH 1s coded as PIRKXL 1n a certam code, then the word which 1s coded as ZSPYQI
LENGTH & PIRKXLrr 86 Siwinch, ZSPYQL e 86 Sabards vdo

Options :

. « PYTHON
, « SQUARE
5 v VOLUME

, « HEIGHT



Question Number : 65 Question Id : 9741093814 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)m.ﬂ“?g By AR

C. Coding and Decoding Problems
§coh andain CECoh Davgen

If the word CERTAIN is coded as NIATREC, then QUESTION is coded as

0 CERTAIN & NIATREC r 86 S9&:)c. QUESTION aog), §&
Options :

NOITSEUQ
NOTISEUQ
NOITESUQ

NOITSEUQ

Sub-Section Number : 10
Sub-Section Id : 974109424
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 9741093815 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)m.ﬂ"é By LAY

D. Date and Time & Arrangement Problems
38, Danoo B0 e B8 “mm?\)@m



November 21 of 2020 falls on the day

21590808 2020 & 2 Far e955)¢0008?

Options :

Wednesday ewndaordo

1. %

- Saturday BTG50

3 % Sunday esHIT S0
L Tuesday SootiTgarso

Question Number : 67 Question Id : 9741093816 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}3‘5 BTNy

D. Date and Time & Arrangement Problems
B3, Ranoie Boin BBEL DaVIED

The angle between the hours hand and minutes hand of a clock when it shows 4.45 pm is

a%0 Frasogo 4 io.450.00 BN, HAARES' ot Sen SBaky ke

BWIVY) mc,sﬁ £30

Options :

135°

1. %



Question Number : 68 Question Id : 9741093817 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}3‘5 BTNy

D. Date and Time & Arrangement Problems
B3, Ranoie Boin BBEL DaVIED

At what time between 7 o’clock and 8 o’clock will the hands of a clock be m straight line but
not together?

7 00080 8 o) sS[ 2 AAFS ARQLrEOS oo Jadocteoors uf WY

G’ gotron?
Options:
- ; 5
7—min.past 7 o'clock i P it )
1 % 11 11
e ; 5
4—min.past 7 o clock 7 t%0. 4E£).
2. %
6 % min.past 7 o'clock 7%0.6 % Q.
3. %

4.+



5 % min.past 7 o'clock 7¢50.5 % 2,

Question Number : 69 Question Id : 9741093818 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&‘.}Jﬁ“ﬁ JGS

D. Date and Time & Arrangement Problems
BE, Va0 DB0IL BDB5L VaVRIED

[f A says, his father B is the only son of C's mother, how is C related to A?

C ciog), 3 ciog), 038 DR B B, & dod o A ddydband. A §C)

RN mocjawshl i &) 7
Options :
Aunt 00eh
1. ¢
- Nephew ORI
Son ol lebnb)
3. %
Uncle LS T e N
4. %

Question Number : 70 Question Id : 9741093819 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)&3}3“5 ARy

D. Date and Time & Arrangement Problems
3G, V0o S80I B85 DAL

Reaching the place of meeting on Monday 15 minutes before 8.30 am, Anant found himself
35 minutes earlier than a man who was 50 mimutes late. What was the schedule time of
meefing?

Jadvardo eaho 8ro. 30 Ao 15 .20 A0AIT af HArD Q@Dé DS Q) 803,
&0 PAFDTS 50.00 SO D\ 08 S §7) 35200 coocrr BHE K )

thBoErc. &8 NArdo abog) :)g"ﬁé Ra00d0 dodh’

Options :

8.15 am 8158
1, ®

8.00 am &.8.00 .
2.

8.20 am =820 3.
3. %

7.50 am o M | e
4, %

Question Number : 71 Question Id : 9741093820 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}3“5 ARy

D. Date and Time & Arrangement Problems
B3, R0oDe B0 BBEL VaVIED



At an Airport, flight A scheduled to depart at 7.40 am is delayed by 35 minutes. Anil had to
wait 1n the airport for 72 minutes to board flight A. Then the time at which Anil came to
airport s

W8 AP edobo H0.7.40 Do mbwéw%é Q3o A, 35Q.w
oo woen 8808, dirdod'd A3 dwoth S &I I3 72 ey Aot

a8, B 8IS DarTIosrd3 d60 Hvabo

Options :
1 8.52 am = e
7.03 am =703 5\
2. ¥
7.25 am "0 0t s B
3. %
6.53 am &.6.53
4, %

Question Number : 72 Question Id : 9741093821 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}‘3"5 D

D. Date and Time & Arrangement Problems
B, Lo 801 BBEL VaVVIED



Radhika, Mountka, Kamini, Sonia, Deepti and Punam sit around a circular table facing its
centre. Sonia and Radhika are opposite to each other. Kamini sat to the right of Sonia and to
the left of Mounika. If Deepti, Kamini as well as Mounika, Radhika exchanged their seats
with each other, then who is sitting opposite to Sonia?

vad, SR8, T, Fafr, 6 wbon Qrde w0 a HTTE wy Db
Sogrdiomarr $PiTd. Tk Sbaky Thse sl &b, Tare
DAV &) T, D ko AP Sch. T\ Ba). SN vBosw A8,
Thsen 8 88 FTOD Do Srdd) N, Tarh Abrr drdD) 8

AR

Options:

Radhika oeHE

1. %

Mounika AP0

2. ¢

Punam QIR0
3. %

Deepti &ad
4, ®

Question Number : 73 Question Id : 9741093822 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)m.ﬂ“ﬁ S

D. Date and Time & Arrangement Problems
38, Do B0 e B8 ”‘nam“’n}ém



If the symbols «,f,y and § represent the ordinary arithmetic operations + —X,and +

@onpe2)
[(12y12) p145]a(9y4)B34]

respectively, then

0, B,y o8k 6o 20300 ST TP wodhEd 030D + X, + vl

(MaDpG5y2)
[(12y12)145]af(9y4)p34]

R A AT )

Options :

Question Number : 74 Question Id : 9741093823 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}3“5 ARy

D. Date and Time & Arrangement Problems
3G, V0o S80I B85 DAL



Let @; mean > (¥, O >

@, mean < (X, ORI <
¥y Mean = (T3 O =
(4 Mean < X, T <
(s Mean = (s I = S0l

If (7B) as (6C) and (64) a, (3C) . then
(7B) ag (6C) &0603n (64) @, (3C) 2020:80H

Options :

(124) a, (7B)

1. %

., UB)a (124)

(7B) as (124)

(124) as (8B)
4. %

Question Number : 75 Question Id : 9741093824 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}3‘5 BTNy

D. Date and Time & Arrangement Problems
B3, Ranoie Boin BBEL DaVIED



If + denotes multiplication, X denotes subtraction, + denotes addition and - denotes the
division, then

40+8-6+12X549-3=

+ rbeas‘wﬁ)l. X aﬁ?gaﬁévmi)l, N foosuaf’ﬁ)l Qbatn - arrwa’sﬁc‘*&')l VAL ) TA

40+8-6+12X5+9-3=

Options :

65
1. %

61
2. %

45
3. %

41
4. &

Mathematical Ability

Section Id : 97410956
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 75
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 974109425

Question Shuffling Allowed : Yes



Question Number : 76 Question Id : 9741093825 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

es0Ericded .ﬂ“mgé@

95
If (64)** =(256)™Y =2z ,then3x+2y =
5
(64)%* = (256)7Y = 2z 0@, 3x + 2y =

Options :

1.% 1

[

Question Number : 77 Question Id : 9741093826 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

es0srieded ,ﬂva:ugée:a

5
If(@ X 92 = 3™ x 3v/3. then the value of n is

(V3)’ X 92 = 37 x 3y3 ewand, n Dewad

Options:

)
1.%



2. %

3.% 4
5

4.4 -

Question Number : 78 Question Id : 9741093827 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arnthmetical Ability

espgricded ,ﬁvmgé@

Ifa,b,c,d are non zero real numbers such thata:b=4:7.b:c=c:d,a:d=7:8

and d = 32. then the positive value of ¢ 15

a,b,c,d 00 3PXB0 YD woaD. a:bh=4:7.b:c=c:d,a:d=7:8 2daw

d=132 HDMK)@D&J. ¢ mggj G52 Deved

Options :

28

282

5642

Question Number : 79 Question Id : 9741093828 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAIL ABILITY
1. Arithmetical Ability

eaosricded ,ﬂvmgée:a

A bag contains Rs.10, Rs.20, Rs.50 notes in the ratio 9 : 8 : 5. If the total amount in the

bag 1s Rs.625000, then the total value of Rs.10 and Rs.20 notes in the bag (in rupees) is

w8 200" . 10, . 20, 2. 50 Sew 9: 8 : 5 D@ &) 0. 0D Awedo ey

6. 625000 e00d, 6P. 10 0B . 20 S rdy Ao Fanwy (ar.0e”)

Options :

3125
1 ¢ 12500

12500

156250

Question Number : 80 Question Id : 9741093829 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arnthmetical Ability

espgricded ,ﬁumgé@

1 1
I + ==
Ji1+2vig  J11-2v18

Options :
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1. Arithmetical Ability

esotricied ,ﬁnmga@

If\}.\/'_[g +4V10 + 14 — 6V5 = m + V1. then 5m? + 2n? =

J--flS + 410 + V14 — 645 = m + vV eond. 5m? + 2n? =

Options:

14
4, %
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SECTION - B : MATHEMATICAIL ABILITY
1. Arithmetical Ability

eaosricded ,ﬂvmgée:a

Find the number of positive integers less than 100 which are not relatively prime to 100.

100 58 88y 7 eotar 100 S DL DOED 080 57 GBI QrgrRoaiw
P02 82087 of.

Options :

1%49

60
2. ¢

70
3. %

4 % 65
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SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

esotricied ,ﬁvmgée:a

The number of positive divisors of 2025 1s
2025 0n5); O/ BrR5"0 Doy
Options :

13
1. %

Z.Q 1—1



15

4, % 16
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SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

esotricied ,ﬁvmgé@

What 15 the maximum number of students among whom 200 pens and 320 pencils can be

distributed 1 equal number ?

200 bmim a08cin 320 aaabgm el ‘Foo;g;geﬁe n&gom 2080 a0od Dm}ggmﬁ&

?’.)oaj{)ma?
Options :

| % 18
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SECTION — B : MATHEMATICAL ABILITY

1. Arnthmetical Ability

espgricded ,ﬁumgé@



If the GCD of the polynomials 2x* — 9x + [ and 2x* + x — k is 2x — 5,
thenk? + [? =

2x2 — 9x 4 [ 0003w 2x2 + x — k 99 edaoncue (ke 2x — 5

eoandd, k2 + 1% =

Options :
1. % 400
5 % 425
3 % 320
4 325
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SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

esosrieded 3“@%5@

Which of the following 1s a rational number ?
& 3060 o"3e5° DO 28 S0EICD Woavg ?
Options:

ML | I
W8 \-'E+2 \-"ﬁ

1. % ¥z
o
i) \,-"E+ 2 \-"ﬁ
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SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

esotricied ,ﬁvmgé@

Which positive integer among the following has its square root not a rational number?

808 TS D GAJPY Dof VL), HINPOID 28 BECEAD Dof T’

Options :

3025

11025
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SECTION — B : MATHEMATICAL ABILITY

1. Arnthmetical Ability

espgricded ,ﬁumgé@



Let a =7 —4V3, b=4—115, c =8—3V7,
d=5-2V6. e=6—135. Thenthe ncreasing order of these numbers 1s

a=7—-4/3, b=4-V15 ¢=8-3J7, d=5-2V6
e = 6 — V35 en8'oc. e & Do BBiren Sivo

Options :

dbaerc
1. ¥

b,d e a,c

c,aedb
3.¢¥

b,d,a,e,c
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SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

esotricied ,ﬁvmgée:a

a3 A B i =
leta =232 b—=22 34 c=6w, d—=29 3z

Then the decreasing order of these numbers 1s

5 1 1 1 1 1

a = 232 b = 212 348 ,¢c = 618, d = 28 322 es0&0L.

RILDCD) €3 WOoFR) DT e S0
Options :

| % d,ab,c

adcb
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SECTION - B : MATHEMATICAL ABILITY

1. Arithmetical Ability
e905(16363 JPa00 3

ey
The price of coffee powder 1s increased by 25%. How much percent a house holder must

reduce the consumption of coffee powder, so as not to increase the expenditure on coffee?

50 T 60 25% DBA0A. 8 (1) 5% T D DOMDT™ okt 5% T T¢80
20800 Sfoardy &otod?

Options :

20%

'r"jlq

22%

4, %
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1. Arnthmetical Ability

esoErieded ,ﬂvmgé@



An ore contains 20% of metal. How many tons of ore 1s required to obtamn 690 tons of

metal?
208 Tre%e)) 20% eﬁ)ﬁbﬂl 596e08. 690 YO SRV R o AN ALY ) YO TAY

gDy Eotod?
Options :

3150

3 @ 3450

3650
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SECTION - B : MATHEMATICAIL ABILITY
1. Arithmetical Ability

eaosricded ,ﬂvmgée:a

The marked price of TV is Rs.48000. By allowing a festival discount of 10% the profit on

the sale 1s 8%. If there 1s no discount, what would be the percentage of profit?

8TV {fmﬂb 25 Do A, 48000, Dok noG0yor 10% @Q{}B’Qj 3&);) &0} 1 8% o

D08, B0y Ay GoCETR. erd T80 Jodd Sold?

Options :
:'."
1. ®
24
2. ®
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SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

es0srieded ,ﬂvmgée:a

If the profit that can be derived on selling an article for Rs. 950 is twice the profit that can
be dertved on selling the same article for Rs.650, then to derive a profit of 30% on the same
article. the article has to be sold for (in rupees)

w8 e 67950 O BB ddy rdo B0 WP 67.650 V5 BB Oy

ererd3 0toy eahitnotl. & S R 30% erdo Toorwod TAN BALIOND GO

(ar.0e5)
Options :

| w400

5, % 410

455

460
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SECTION — B : MATHEMATICAL ABILITY

1. Arithmetical Ability

esosrieded 3“@%5@



Three persons A, B and C start a business with mvestments Rs.40000, Rs.50000. Rs.60000

respectively. After a few months € left the business. At the end of the year. C’s share in

e : : =
the year end profit is = the total profit. Then C stayed in the business only for first

Qe dr.40000, dr.50000, 6r.60000 EJ%}DBJ{:JU@E AL Of5e0 4,B,C o ws

TEFTR) F0DTW. £ dvw SOTO  TEFT) HBY DTy, VoHSYT B

erioe)” C 0E) TEF Ao m;soef% D0, 9PE C argardoes’ &) & 300 2068

Options:

0 months

1% 0 Deen
8 months
& Deen
2.

7 months

3. % 7 Q0w

6 months

4 % 6 Peew
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SECTION — B : MATHEMATICAL ABILITY

1. Arithmetical Ability

es0Ericded ,ﬁvmgée:@



In a business investment of Xavier. Younus are in the ratio 3 : 4. The time for which Xavier
was there in the business is 2 times that of Younus. If the total profit was Rs.120000 at the

end of the year, then the share of Xavier (in rupees) is

w8 Trjrdody” @DaD6 BAL) PN © DEDLER DG 3 : 4. T§arcoes” FDoHE
EIF0 5700 AP FOFAN 57erd3 0801, poDBNTRod ergo . 120000 eond,
e90ceS” EDaD6 arer (Ar.06°)

Options :

68000

48000

77
4 72000
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SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

esotricied ,ﬁvmgée:a

Pipe A can fill an empty tank in 6 hours and another pipe B can empty the full tank in 4
hours. Pipe A 15 opened at 6.00 am and after 3 hours pipe B is opened. The time by which

the tank will be empty 1s

w8 Feo A w8 a9 FO 6riowod* b o Sbatw FE e B Joc FO 4
flotwes” ard Saio. &. 6.00 ot Fieo A & B0arth B 3 ot BEOTS

o B D BOare. O 0anairds e &6 Y SorieE?

Options :



1 % 12.30 pm a. 12.30

2 # 2.00 pm o0. 2.00
) 3]

3 % 2.30 pm ab. 2.30
3.00 pm av. 3.00

4.+
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SECTION - B : MATHEMATICAIL ABILITY
1. Arithmetical Ability

eaosricded ,ﬂvmgée:a

Two pipes A and B can separately fill an empty cistern 1n 48 minutes and 60 minutes
respectively. If both A and B are opened together and after 20 minutes B 1s turned off, then
how many minutes will it take for the cistern to be filled?

0ot figren A dodoin Bew DEDCm S a8 a9 FE 48 2. daiw 60 2. e’
Mo 0. A 08030 Bodd 28300 300): 20 2. o athare B espamnd. e e e

Docerdd Ay ADaren DEEd?

Options :

.
_ 42
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SECTION - B : MATHEMATICAIL ABILITY
1. Arithmetical Ability

eaosricded ,ﬂvmgée:a

One-third of a certain journey is covered at 25 kmph, one-fourth at 30 kmph and the rest at
50 kmph. What s the average speed during the whole journey?

8 a0’ — & D080 oD o 25850, Mo, & D0 &) o 30

3.0, Drfod¥’ Drer T (1005 50 8.00. HriofFAr P 3. & Ando Poirmees” ik

Diaoeh?

Options :

32%1{111})11 0.8 32%%.33}.

1. %

353k111ph (10.£) 35= &.50.
2. ﬁ 3 3

33%1{111})11 0.5 33% 4.20.
3. ¢

38%1:111}}}1 f10.5) 38& 4.20.
4, %
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SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

espgricded ,ﬂvmgﬁ@



Two persons P and Q walk from A to B. a distance of 14 km at 3 and 4 kmph respectively.

Q reaches B and returns immediately and meets P at C. What 1s the distance between A
and C (in kms)?

QG DfEe0 P ndoin Qen A doc. B 14 3.0v. AP SR 3 8.a./f0. £ andoiw
4 8.00./r10.%) Drfod HEFM. Q BT B 2 385 Dord Scord pairegy P A € ag

5000, D0 A nBai C © e crdo (3.20.085)

Options :

1._%,;? 12

, % 13

10

4, %
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SECTION - B : MATHEMATICAL ABILITY
1. Arnthmetical Ability

espgricded ,ﬁumgé@

Working independently A and B can complete a piece of work m 6 days and 10 days
respectively. Now A starts the work and after 2 days B joins A.  In how many days will
the work be completed from the day A starts working?

DEDCT RGW dfgen A adain Bew w8 DAY 6 Faven ddoin 10 Faverd® 7l
dabiod. A DAY Awde ED Jod Twewh B 0add 9o, A DI Ancen
D0 B0C. Ao Iy Farod” &2 HI QFPf FivE?

Options :
1. %



5_
2
5
2. %
gt
3¢
4
4, %
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SECTION - B : MATHEMATICAL ABILITY
1. Arnthmetical Ability

espgricded ,ﬁumgé@

Two persons A and B together can complete a piece of work mn 12 days. where as B and €
together can complete the same work 1 16 days. All the three persons start working
together to complete the work., For some reasons A quits after working for 5 days and B
leaves the job after working for 7 days and C continues till the completion of the work for
working 13 days from the beginning. How many days will it take for B alone to complete
the work?

RGMm H§en A Bain Ben 80 w8 DI 12 Fererds” rd dabriom s B andai
Cen B0 o3 DA 16 Faveed Hrd donrom. e HAD Qrd Saer) es SV
D0 581 Ancen demrm. EI) oo 9y A o Swen HI IS shTo, B
20 Faren DI N BTG HOTFD adany C 2GS Aol 13 Faren DI v &
DA QP8 S, B wf & e DD D) Fweod” opf Sobroc?

Options :

40
1. %

Z.Q 42



3 x 45

48
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SECTION — B : MATHEMATICAL ABILITY

1. Arnthmetical Ability

espgricded ,ﬁumgé@

If the diagonals of a Rhombus are 12em and 16 cm. then its area, in 5q. cm., 15

28 ) WSRO a?msb DSgﬂm 12 230.20. 08030 16 20.00. 900856, T°9 TV[0

&.20.00.0¢5°

Options:

4w 96
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1. Arithmetical Ability

esosrieded 3“513*2%‘5“3



A rectangular park has dimensions 64m and 48m. A path of width 4m 1s laid down mside
around the park wall. The cost of fixing tiles on this path at the rate of Rs.70 per sq.mitr..
10l TUpees. 15

2l &g BB0TS0 .i‘rmb oo 64a). obai 4820, €3 auc% fe Doaxd &0 P 4

Q. DERY (10 28 EPOND JOCTD. P8 D.D.L Ar.70 © FYyd & P P SG0Y

DOSED (365y) ©0NTd3 eoh] 0y (Ar.0)

Options :

1. ¢ 58240

, w 64320

x 42640

4 % 72160
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SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

es0Ericded ,ﬁvmgée:@

If solid sphere of radius 10 cm 15 moulded nto 8 spherical balls of equal radus, then the

surface area of each ball 1s (in sq.cm.)

10 20.8. J’is.f]“go o 28 Ave) Mot a8 mﬁﬂ“g“bg_ 0 €938 8 ) DD B

208000 3784500, 2.8 ©10d g, EDBB0 DTV (3.00.00.0¢")

Options :

1% 500 m



250 m

510 @

TS
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SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

esosrieded 3“513*2%‘5“3

If the breadth of a rectangular plot is 75% of its length and the perimeter of the plot 1s

1050meters, then what is its area (in sq.m.)?

2. &g BEOFS0 QU0 MY daevy. TN TS 75% God bt e &g

SBOFE0) P00 Dt E0s 1050 . 00 & Yo DT (3.00.08")

Options :

650
1. %

75000
3 % 57500

67500
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SECTION - B : MATHEMATICAIL ABILITY
1. Arithmetical Ability

eaosricded ,ﬂvmgée:a

A solid hemisphere of radius 8 cm 1s melted and cast to form a solid right circular cylinder
such that the ratio of the curved surface area to the total surface area of the cylinder 1s 4:7.
then the cube of base radius of the cylinder 1s

8 0.0, TFFTA) 59 8 eog Hvrseoa) MO 8A0d VM S HESO YrOT
S ORI ) b AP0 I0E), HEB0 PTORIIS DBAID DOPFEL DTS 10 DS

4.7 T o000, YrDdo NG mmﬁﬂvg@ 0P

Options :

4 % 64
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SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

es0srieded ,ﬂvmgée:a

The perimeter of a circle 15 equal to that of a square, then the ratio of their areas is

28 )8 DB, 28 SALGR cLEPE VB DATTH0 V0NN, T8 PTER(R) DS

Options :

i
i w

1. %
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SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

esosrieded 3“@%5@

Find the time taken by a man to make 5 rounds of a square field with side 300 m at a speed
of 4 kmph.

300 . Py 90cHaD 5938 w8 INOFCY Ego & 5 DOPjOIren o) THEDS

(10815 43.20. © Ty PATTEODEAS Doeh VDO S 0trE?

Options:

90 mun.
a0 D.ew.

60 min.
60 D.en.

80 mun.
. 802w,

120 min.
120 D.ew.
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SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

es0Ericded ,ﬁvmgée:@

If X;,X; %3,X, X5 and x, are respectively the remainders when 150, 250, 350, 450, 550

and 650 are divided by 19. then what is the greatest number among X;, X,, X3, X4, X5 and x,

9

150, 250, 350. 450, 550 Sodoiw 650 0 19 3 &rhia 6:1{3& Faren ST

Xq, Xy, Xg, Xy, X5 OOOKD Xz ©900D, X5, Xy, Xa, X, X a0OOI0 X, 065" (18g) ~oag Q6 ?
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SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

espgricded ,ﬂvmgﬁ@

The remainder when 23%° + 158 is divided by 19 1s

23%° + 15%° 20 19 d6 erfodNENE ©dod 300

Options:
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD Svmgée:a

In a hostel of 220 inmates, 80 people read new paper A. 100 people read news paper B, 120
people read news paper C, 40 read both A and B, 50 read both B and C. 60 read both A and
C and 25 read all three news papers. Then the number of inmates who do not read any of
these papers A, B. C. 1s

28 DA (fyaToe” &) 220 20066 80 &00d TP DAE AX. 100 200 HAS B, 120
2008 DEE CA, 40 wod A dain B, 50 wod B anboin Com. 60 dood A
28010 C 920 B 25 @00 APE HAEON SODOW. WD B JVA (P’

Eota® JUPE) DA% A, B, C 0¢° 322 ©56:52 ar0o00?

Options :

1% 175

2.@,45
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DD, 2§NSAD Frges

If A, B are two sets. then A — [A—{A— (A —B)}] =

A, B &0 92 Toc aneien esondancy. A —[A—{A—-(A—-B)}] =

Options :

. v ANB

AUB
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DD, 2§NSAD Frges



Two cubic polynomials f(x) and g(x) have 2x% + 7x + 5 as a common factor. If 1 and
2 are respectively the zeros of f(x) and g(x). then the zeros of (f(x) — g(x)) are

00D 1R LERPDMED f(x) dain g(x) oH 2x° +7x +5 a8 el Sorroso.
f(x) dain g(x) 05 HER 1, 2 &0 HPTPHeD 0D,

(f(x) = g(x)) aws), 3R

Options:
_ 0.5

both positive
Oocar {;’m“ejégo

2. %

both negative
3 ¥ GOCONT® 20DEFE), 50

of opposite signs

OR0S rden 58A eotron
4. %
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SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, St Tevs) &m%@

If one of the zeros of the cubic polynomial x* + ax® + bx + ¢ is —1. then the product of

the other two zeroes 1s

23 +ax? +bx + ¢ 3% —1 28 3r§o NI, M To) FPT(R L0

Options :
1.



b—a+1
b—a-—1

38 a—b+1

a—b—-1
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &FIOBOD 5‘@3%@

If ax* + bx® + 2x? + 4 is divisible by x2 — x — 2, then (a, b) =

ax* +bx®+2x*+4 ox?P—x-2 Dy PN (a, b) =

Options :

( )
22
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD Svmgé@

The remainder when the polynomial f(x) is divided by (x — 1) and (x + 1) are 6 and 8
respectively. Then the remainder when f(x) 1s divided by (x — 1)(x + 1) 1s

f(x) 299 225006 (x — 1) snbain (x + 1) 0d arfoua. adm 6 adoi § o
3areurr edJron. @ F(x) & (x — 1)(x + 1) &S arfoddd odod Fo

Options :

X7
1. %

S T
2. ¥

: A |
3. %

—x—7
4, ®
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability
DAAD, FFIDBOD a0 e

=)
i 13 18 39
It + =14 + = 21, thenx —y =
Ix—y Zx+y 3x—y 2x+y -
12 12 18 29
+ =14: + = 21 oond, x—y=
3x—y Zx+y dx—y 2x+y 4
Options :

1.4



2 % 10
17
10
3. %
17
4. % 10
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD Svmgée:a

The present age of father 1s 5 times the age of son. Five years hence father’s age will be
three times age of the son. Then the present age of father exceeds the present age of his
son by

B0d DAV DAV, HATHE HADAND 5560, SH0INTO BTO Sod SO0y,
DAPHE HADRYD 3 T, DRSO Bog, HADRY, HATDE HaDADy S Jod

NEVE

Options :



18

Question Number : 119 Question Id : 9741093868 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD 3“533%5@

W g B R G

@

Options:

36
1.4 8

—36
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Display Question Number : Yes
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &FIOBOD 5‘533%5@

il 1 1 S
l.g+ 2.5—2+ 4.;4‘ e 512; =

Options:
1. %



L @
-
Ry

Question Number : 121 Question Id : 9741093870 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Ddan, St telens) Svmgé@

2499 F 999+ o

Options :

Lo 10 (=) -n

4, %



Question Number : 122 Question Id : 9741093871 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION —B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &§ROBOD ﬁvmgé@

sinA+sin 34
cos A+cos 34

Options :

sin 2A
1. %

cos 24
3. % fan4

tan 24
4.«

Question Number : 123 Question Id : 9741093872 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &FIOBOD 5‘533%5@

Vian* x + 4sec2x =

Options:

2 —sec’x
1. %



1—sec’®x

14 sec’x

2 +sec?x

Question Number : 124 Question Id : 9741093873 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &§IOBOD ﬂvmgée:a

sinf + cosec 6 = 2 = sin? @ + cosec?d =

Options :

Question Number : 125 Question Id : 9741093874 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
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SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, St lens) 3“@%5@



sin23° 4+ cos 48° +s5in 43° + cos 61°
cos547° 4+ sin 29° +sin42° + cos 67"

Options :
£
1.% 2
1
2. ¢
VI
3.% 2
=i
4, %
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &§IOBOD Snm%@

Two persons standing on either side of a temple of 30 m height observe its top at angles of
elevation 30° and 60° respectively. Then the distance (in meters) between the two persons

15

30 Q0. BT (10 28 MHES ToPYL™ AGW HfEeD ey & (D P D) HOIP

30° oo 60° © ésdc Srree” (andomrd. ) & RGO SR [ Ardo (.0e°)

Options :

303

1. %

, % 40



3.v 40V3

30 (V3 +1)

4. -
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SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Ddan, St telens) E}vmgé@

The points (—4,0), (4, 0) and (0,3) are the vertices of a

(—4.0), (4.0), (0,3) Docrapen D Geho GIE), IFen?

Options:

Right angled triangle eoe)Ee SEao
1. %
5 Isosceles triangle RDOETET™ BEEso
3. %  Equilateral triangle QDL @0
4 Scalene triangle e fEiano
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD Svmgée:a

In the following figure. three lines [}, [,, [; are concurrent at the pomnt O. Find the value of

k.

306 D0t ArC WOV Ben 1y, 1, I; &0 Dot 0 9 RVZATEOT) om. BN

k Desd QR‘D%GZTD&.

Options :

W=

=R |

3.¢
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD Svmgée:a



If the lengths of adjacent sides of a parallelogram are 12 em. 14 cm and length of one of its

diagonal 1s 16 cm. then the length of the other diagonal (i cm.) 1s

28 DATOBO B RO ANE) HE) W Tecanen 12 20.80., 14 20.20. s0Bain o

@0E) w8 DEGo T 16 20.00. o0, T o DEGo GINE) T (V0.a0.08)

Options :

1 % V106
24106

2.

3 % 3V 106

4% V212
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, St lens) Snmgé@

ABCD 1s a trapezium m which AB 1s parallel to CD. P and Q are mid points of AD and
BC respectively. If AB =8 cm and PQ = 6 cm, then CD = (in cm)

ABCD e Hanoon ds0tya08s* AB, CD & darosido. P, Q ev i AD, BC op

0 Docanen. AB =8 em, PQ=6cmeond (D= (20.a0.0¢°)

Options :
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DD, 2§NSAD Frges

In the adjacent figure PAB and PCD are secants drawn from an external point P to the
circle cutting the circle in A, B and C, D respectively. IfPA =5 cm: AB =8 cm. PC =4
cm and CD = x em, then x =

D8), Do, w8 Sy hus), erery Do P
od ADY 36 daew  PAB, PCD en e
a‘_u;,gﬂl P A, B aoBaw €, Do g
ajod@“{m. PA =5 20.20.: AB =8 20.2).
PC =420.80., CD = x 20.00.. o0& x =

Options:

1.¢

5%}
Ln

Question Number : 132 Question Id : 9741093881 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD Svmgée:a

From a point Q, the length of the tangent to a circle 15 24em and the distance of Q from the

centre 15 25¢m. The radius of the circle, in em, 15

2,8 Do) Q ol 28 IS 10 D05 SFE) 24 20.20. dodoiwn &3 Do) sood

e D2 S0@rS (1) (G0 25 20.20. 0N, &3 )8 TG0 (R0.20.065)
= = o

Options :

24.5
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DD, 2§NSAD Frges

If the slope of the line passing through the points (5. 6) and (4. k) 15 3. then k =
(5. 6). (4. k) Docoape o Fadh HovdD aren 3 eowd, k =
Options:

3
2

1. %



2. %

3
3.

A

4
4. %
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Display Question Number : Yes
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &FIOBOD 5‘@3255@

If A(2. 3), B(5, k) and C(3. 4) form a triangle with the slope of AB being 2. what is the
area (1n sq. units) of AABC ?

AB D?méb e 2 903)5 o A(2.3). B(5. k) aBoin C(3. 4) en 28 @ﬁ)&&*’:}l EJG;)@?_\.)

AABC oing) pwrogo (3.00P.06°) dos ?

Options :

2
1.4 2

b |
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD Svmgée:a

The equation of the line passing through the point (—4,5) and parallel to the Y-axis is

(—4,5) rooz= TFedr Y-e9=203 DarodGorr &oi Jar NaEoeo

Options :

}1—5:[}
1. %

x+5=0

¥+h=0
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Display Question Number : Yes
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Ddan, St telens) 5“533%@

If 6 1is the acute angle between the lines y = bx and y = 7x, thentan @ =

y=5x,y =?xﬁ;u}umcﬁ5mm§emoﬂ@m@. tan@ =

Options :
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Display Question Number : Yes
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &§IOBOD ﬂnmgée:a

The equation of the straight line which 1s inclined at an angle of 135° to the

X-axis and making an mtercept of 0 units on the Y-axis 1s

X-e950 & 135° Smo Sr Y-050 p 0 aardS © 09086 Do) 0105 0¥ Bar

YO0

Options :

x—y=20
1. %

5 % x++3y=0

3 % V2x+y=0

. x+y=0
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DD, 2§NSAD Frges



: e B : .
The equation of the straight line whose slope 1s = and y-intercept 2 1s

e % . Y-9083G060 2 T (10 DOWEAr DaEoE0

Options :

2% +3y —6==0

Z2x = ay—h=1D

2. %

3 % 2x+3y+6=0
2x —3y+6=20

4.
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Display Question Number : Yes
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &FIOBOD 5‘@3%@

If the line y = 7x + 9 meets the coordinate axes in A, B respectively, then the area of
triangle OAB. in square units, 1s

Y =7x+9 o3 0o A6ras oo A B o O¢ 2oty ghae OAB dws) dToje

o.0he.ee’

Options :

2. %

81
28



81
14

Question Number : 140 Question Id : 9741093889 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DD, 2§NSAD Frges

The equation of the median AD of the triangle ABC where D is the midpoint of BC and
vertices are A(—6,—7),B(4,6) and C(2,4) is

A(—-6,-7),B(4,6),C(2,4) %‘g'e_u e @zao ABC &° BC 0%, 6§ Dochap D o0

i AD ohog), HNEGE0
Options :

1. Sy —12x—9=1

12y +9x—12 =0

2. ®

6x+7y+18=20
3. %

7y+6x—18=10
4, ®
Sub-Section Number : 3
Sub-Section Id : 974109427
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Question Number : 141 Question Id : 9741093890 Question Type : MCQ Option Shuffling : Yes
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SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability
R0aTFETR &m%@

If themeanof 9. 12, 15, 9. 16. 18. 16. 19, 14, 15, x, 18 1s 2x. then the value of x 15

9.12,15.9,16, 18,16, 19, 14, 15, x, 18 © d0cijso 2x 9008, X L0

Options :

4. ®
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SECTION —B : MATHEMATICAL ABILITY
3. Statistical Ability

R0AFFET 5“&333?5@

The arithmetic mean of a data containing 50 observations 1s 30. While calculating the
mean, instead of 54, 96. the numbers 32, 18 were taken into account. Now the actual mean
18

50 DBF0IVRD $8 2,8 G0 B08E0 30. I ricousccoss” 54, 96 xRV 32,

18 DBricades" D3 ARSI 1. ANCED VTR oSS0

Options :

1.% 31



2.

29
3, %

33
4. %
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SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability

R0AFFETR 3“&33%@

The arithmetic mean of 10 numbers 15 18 and arithmetic mean of another n numbers 1s 36.

If the arithmetic mean of all the numbers 1s 30, thenn =

N D03)® woSadiao 36 ba SFE 10 Doy BosEe 18, @)y e’::’i

Jr\']DaJ?SU @oﬁ.ﬁ)%ﬁ)o 30 e0med. n=

Options :
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Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

R0PFET &mgﬁ@

If each one of 52,62, 7%,8%,9% 102, 11%and 12? when divided by 13, leave remainders

@y, ay, 03, Ay, As, A, A7, Ag respectively then the median of these ;s 1s

52,6%,7%,82,92,10%,11%, 122 05" 8)ord) 13 & arfY, Oy faken a0

@y, @y, 03, g, U5, A, 07, Ag ONB, @; © AG) (S0

Options :
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SECTION — B : MATHEMATICAL ABILITY

3. Statistical Ability
R0AFFETR) Sﬂmgﬁ@



Median of the following data 1s

& S00 OTF0IY) A0

60 80

- ]
L]

Marks 23 35 40 50
E&I"CiJZIP_D

Frequency 7 8 12 10 15 10 11
il"c‘ﬁ;ﬁi}_‘)?{lﬁo

Options :

| % 55

2.¢

40

60
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SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability
SEEVIEE S Snmgée:a



Find the mode of the following frequency distribution.

306 FIaDI DeraTAS VLo Sr{tﬁg}od.

Class 10-20 | 20-30 | 30-40 | 40-50 [ 50-60 | 60-70 | 70280
&0

Frequency 5 6 8 i 6 4 4
3“&3@&50

Options:
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SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

SEEVIEE S Sﬂm%e‘j

In a distribution. the mode 15 120 and median 1s 140, then find the arithmetic mean

s LB cﬁnéb erarowso 120 aobain QG (ic0 140 esonsdanio. ﬁﬂoém%m:}i

sméﬁbo&.

Options :
1. %



140

170
160

4 150
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability
R0aFFETR) &mgﬁ@

When three fair dice are rolled, the probabulity that a prime number does not appear on any

one of their faces 1s

QP DaPyEs IS0 B0 T8 AVIFUP PN Vo] TET IS (o

‘Fooaj‘*ot}ﬁej

Options:

1
3

[

o | =

4.+
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Question Number : 149 Question Id : 9741093898 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

R0AFFETR) Snmgéefa

A four digit number 1s formed with the digits 1, 2. 6 and 5 with no repetitions. Find the

probability that a randomly selected such a number 1s divisible by 5

1. 2.6, 5 e9030265" )RAT 80 SE0E" &b wrent) e903e) SUENOVATNAL OISy Sor

..:aomgml eataot) 2,8 02 5 @ rfiom BE VLN A

Options :

3

| =

w
#
@ |

| =
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SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability
R0AFFETR 3“&33%@



From the first 50 natural numbers. a number 1s selected at random. Find the probability
that 1t 1s neither a multiple of 3 nor a multiple of 4.

DG 50 DaFE DofR Aoc) 28 Mo ITELN S o) B, PN €3 oy 3

mﬁz} Mo e 4 cfmggj (i 38005 "raoe,mjéej Joed?

Options :

E
1. # 25

E
2. % 25

E

25
3.¢

17

=
4, ®

Communication Ability

Section Id : 97410957
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 38
Number of Questions to be attempted : 38
Section Marks : 50
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 974109428
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 9741093900 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings



The dictator rules almost entirely by

Options:

fiat

unanimity

euphoria

persuasion

Question Number : 152 Question Id : 9741093901 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

The rainfall was welcome by farmers in the parched land.
Options :
capricious
1. %

5  copious

brazen

analogous

Question Number : 153 Question Id : 9741093902 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

Results are
Options :

1 awaited

5 % waited

waiting
3. %

waits
4. %

Question Number : 154 Question Id : 9741093903 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

The monk spent three years of his life as a . praying and meditating.

Options :

pleasure-secker
1. %

hedonist
2. ®

tyrant
3. %

recluse
4. &



Question Number : 155 Question Id : 9741093904 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

Judges are expected to conduct themselves with
Options :

propriety

2 % (uorum

mdiscipline
3. %

mdiseretion
4, %
Sub-Section Number : 2
Sub-Section Id : 974109429
Question Shuffling Allowed : Yes

Question Number : 156 Question Id : 9741093905 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms

Choose the word or phrase similar in meaning to the word *abeyance’
Options :

« obedience

excitement



suspended action

discussion
4, %

Question Number : 157 Question Id : 9741093906 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms
Synonym of the word ‘efface’

Options :

face

5 % <ncourage

3 obliterate

recognize

Question Number : 158 Question Id : 9741093907 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms

Synonym of the word ‘gaudy’

Options :

holy



whimsical

3 % Nervous

showy
4.

Question Number : 159 Question Id : 9741093908 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms

Antonym of the word ‘tranquility’
Options :

calmness

commotion

. Ppeace
3. %

repose
4.

Question Number : 160 Question Id : 9741093909 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms

Antonym of the word ‘nebulous’

Options:



mndistinct

hazy

clear

vague
4. =

Sub-Section Number : 3
Sub-Section Id : 974109430
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9741093910 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)

The boat was crossing the river (Change the voice)
Options :

The boat has crossed the river.
1. %

The river was being crossed by the boat.
2.

The river was crossed by the boat.

The boat was crossed by the river.

Question Number : 162 Question Id : 9741093911 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)

I the house before he came.

Options :

am left

has left

had left

had leaved

Question Number : 163 Question Id : 9741093912 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)

By the time the meeting ends. he for four hours.

Options :
worked
1. ®

will work

will have worked



works

Question Number : 164 Question Id : 9741093913 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)

I the work yesterday.

Options :

1 % have finished

had finished

will be finishing

finished
4.«

Question Number : 165 Question Id : 9741093914 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)
May God bless you.
(Change the voice)

Options :
1. %



God will bless you.

May you be blessed by God.
2.

3 % God has been blessing you.

4 % Youare blessed by God.

Sub-Section Number :

4
Sub-Section Id : 974109431
Question Shuffling Allowed : Yes

Question Number : 166 Question Id : 9741093915 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms

The boy felt when none of his friends went to watch him play.

Options :

let up

5 « letdown

3 % let in

let off

Question Number : 167 Question Id : 9741093916 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms

The thieves the room.
Options :

1% breaked

broke mnto
2. ¥

. broke up

broke away
4. % '

Question Number : 168 Question Id : 9741093917 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms

The rebellion was put down in no time.
Options:

encouraged
1. %

WoIl

3 « suppressed



suspended

Question Number : 169 Question Id : 9741093918 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms

Sony with her neighbour when he was treating her dog badly.

Options:
1 % fell around

tell about

fell in

fell out
4. &

Question Number : 170 Question Id : 9741093919 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms

The list of assets are in the company’s report.
Options :
set out

1. %

> w Setup



set forth

3. v

set in
4, ®
Sub-Section Number : 5
Sub-Section Id : 974109432
Question Shuffling Allowed : Yes

Question Number : 171 Question Id : 9741093920 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

Manasa came to the city train.

Options:

1w oY

n

off

at

Question Number : 172 Question Id : 9741093921 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

The cat had the table.



Options :

underneath

Q1

upon

over
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SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

Ravi stood first the class.

Options :
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SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

He 1s confident himself.

Options :

_— in
2.« of

3. % with

about
4, %
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SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

Lakshman always agrees Rama.

Options :
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for
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SECTION - C : COMMUNICATION ABILITY — Computer Terminology

A multi-diseiplinary field that uses scientific methods, algorthms. and programming to
extract knowledge and insight from data that facilitate decision-making and problem

solving 1s called.

Options :

Al

Data Science

Machine Learning

Management Science
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SECTION - C : COMMUNICATION ABILITY — Computer Terminology

A digital currency, which 1s an alternative form of payment created using encryption

algorithms, 1s called

Options :

UPI
1. %



Fintech currency

Digital wallet

Crypto currency
4.
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SECTION - C : COMMUNICATION ABILITY — Computer Terminology

A technology that creates immersive. computer-generated environments and devices

like headsets that allow user to interact with the virtual world 1s
Options :

Cloud computing.
1. %

Neural computing.
2. %

Virtual reality technology.
3.¢¥

Block chain technology.
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SECTION - C : COMMUNICATION ABILITY — Computer Terminology



A multidiseiplinary field comprising aspects of Computer Science. Physies and

Mathematies that utilizes quantum mechanics to solve complex problems 1s called

Options :

Super computing
1. %

Cloud computing
2. %

Quantum computing
3.¢

Multi-server system
4, ®
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SECTION - C : COMMUNICATION ABILITY — Computer Terminology

A machine learning model that uses algorithms to understand and generate human

language 1s called

Options :

1% SLM

Fuzzy logic

Satten recognition receptors

4.+
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SECTION - C : COMMUNICATION ABILITY — Business Terminology
Average income earned per person in a country in a year is termed as
Options :
GDP

1. %

" Per capita income

3 % Repo rate

Human development index
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SECTION - C : COMMUNICATION ABILITY — Business Terminology

A marketing technique that promotes a product by advertising another product made by

the same company 1s called

Options:

1 % Subliminal advertising.



Surrogate advertising.
2.

Sub optimal advertising.
3. %

Surreptitious advertising.
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SECTION - C : COMMUNICATION ABILITY — Business Terminology

A person who represents and advertises for a company, supporting its offers and acting
as the embodiment of the corporate identity, 1s known as
Options :
Manager.

1. %

5 Brand ambassador.

Company honcho.
3. %

Salesman.
4, %
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SECTION - C : COMMUNICATION ABILITY — Business Terminology



Debt securities issued by corporation in order to raise money to grow business, make

capital investments are called

Options :

Securities

Shares

3 ¢ Bonds

Blue chips
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SECTION - C : COMMUNICATION ABILITY — Business Terminology

Moderate or normal psychological stress nterpreted as beneticial to the one engaged n

productive activities 1s called
Options :

1 % Tension-free.

Stress buster.
2. ®

Eecreation.

Eustress.
4.«
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1

As per the Human Development Report (HDR) 2011 published by the United Nations
Development Programme (UNDP) (which estimates the human development index UDI
in terms of three basic capabilities: to live a long and healthy life. to be educated and
knowledgeable. and to enjoy a decent economic standard of living). the HDI for India
was 0.547 in 2011 with an overall global ranking of 134 (out of 187 countries) compared
to 119 (out of 169 countries) in HDR 2010. We have to examine the major dimension
of inclusive development like poverty alleviation. employment generation. health.
education, women’s empowerment and social welfare besides reviewing the progress of
important government programmes in these sectors. Inclusive development meludes
social inclusion along with financial inclusion and in most cases the socially excluded
are also financially excluded. Many a segment of the population like landless
agricultural labourers, marginal farmers, scheduled castes (SCs), scheduled tribes (STs).
and other backward classes (OBCs) continue to suffer social and financial exclusion.
The government’s policies are directed towards bringing these marginalized sections of
the society mto the mainstream as it also reflected i social-sector expenditure of the

government.

Sub questions
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1

Which of the following 15 an indicator for estimating HDI?



Options :

1 % [lness.

5 Mliteracy.

Decent economic level.

Lack of sanitation.
4, %
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1

What does India’s overall global ranking (134 out of 187) indicate?

Options :

Human development index.

Poor human development index
2.

Advanced human development index.
3. %

Encouraging human development index
4. %
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1



Which of the following 1s not a dimension of inclusive development?

Options :

- Alleviation of poverty.

2 % Elllp{]“"il'ﬂlﬁ‘lll of women.

3 % Social welfare.

4 Social exclusion.
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1

Which of the following words 1s similar in meaning to the word ‘reviewing’ as used in

the passage?
Options :

missing

neglecting

reconsidering
3.¢¥

challenging
4, ®
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1

The purpose of inclusive development is

Options:
1% exclude the downtrodden from development.
to bring the downtrodden into the mainstream by developing.
2.
to develop the advanced sections of the society.
3. %
to weaken the socially advanced sections.
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2



Yesterday Professor Bose got up at 7 O clock. He was late! Hurriedly, he got out of
bed and ran mto the bathroom. He cut his chin while shaving. As he switched on the
geyser, the lights went off. so he skipped the bath and settled for a cold wash. He then
went mnto the dining room and bolted his breakfast. A piece of toast stuck in his throat
and he coughed and coughed. Next. he bumt lus tongue drinking very hot coffee.
Breakfast over, Professor Bose got dressed. Because he was in such a great hurry, he
forgot to tie his shoe-laces, and as he was hurrying out of the front door, he tripped and
fell. He quickly picked himself up, knotted the laces and ran to the bus stop. Alas, he
was late by a couple of minutes, and all that he saw was the back of the Arts College
bus disappearing in the distance. Grumbling, he waved to a taxi and got . “Arts
College!™ he roared to the taxi driver. ‘and in double quick time. I have a class ten
minutes from now.” The driver drove fast. and Professor Bose arrived at the college just
i time for his lecture. But there were no students: there was no tell-tale noise, nothing.

It was a Sunday.
Sub questions
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

Choose the list of things chronologically that Professor Bose did on getting up.

Options :

1% Running in to the bathroom. eating his breakfast. shaving. having a cold wash.

Running into the bathroom, having a cold wash. shaving. eating his breakfast.
2. %

Running into the bathroom. eating his breakfast, shaving. running for the bus.

Running into the bathroom. shaving, having a cold wash, eating his breakfast.
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

Point of the story 1s
Options:

Professor Bose was to raise.

Professor Bose was an intelligent professor.

2. %
~ All professors are absent-minded.
3.
4 Professor Bose could do nothing right.
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

Professor Bose bolted his breakfast.

(What 1s the meaning of the underlined word?)

Options:

threw out
1. %

> % shut

3. ¥



ate hurriedly.

set aside
4, %
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

Why couldn’t Professor Bose find students in the class?

Options :

1% It was Monday.

It was Sunday.

2.9
~ Students went for breakfast,
3.
It was the playtime.
4, ®
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

How did Professor Bose go to Arts College?

Options:



On foot.
1. ®

5 % By auto.

3 « By taxi.

By train.

4.,
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

There are three ways a star can die. If it 1s of the same size as our Sun. it will exhaust
its hydrogen fuel. expend to a red giant and then slowly shrink to a white dwartf.
Eventually it will cool to a black dwarf. a permanently embalmed corpse that never
changes.

If a star 1s moderately more massive than the Sun. it 15 likely to explode into a supernova
leaving a still more dense residue of neutron star astronomers called pulsar. because 1t
sends out absolutely regular pulses or beeps of radio waves, sometimes beeps of visible
light.

Finally. if a star 1s much more massive than the Sun. it 1s expected to expire in a manner
s0 bizarre that its ultimate fate 1s still in an unresolved mystery. On expiry it undergoes
a catastrophic implosion. a sort of explosion in reverse, so that even neutrons are unable
to withstand its enormous gravitational compression. All particles are crushed out of
existence and the laws of physics cease to have any meaning. It has entered a ‘singular’
state called blackhole.

While our milky way 1s littered with stellar corpses of the first two kinds-white/black
dwarts and pulsars — no corpse of the third type — a black hole — has been discovered.

Sub questions
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

A white dwarf will eventually change into a

Options :

black dwartf.
1.¢

red giant.

3 % SUPCInova.

4 % pulsar,
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

An actual black hole

Options :

1 & has not been discovered so far.

5> % 15 already discovered.

undergoes catastrophic implosion.
3. %



withstands gravitational compression.
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

After the implosion of a star more massive than the Sun. what remains 1s
Options :

neutrons

5 % pulsars

3 % supermova

black hole
4. &
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

The dense residue of neutron star is called pulsar because

Options :

It does not undergo catastrophic implosion.
1. %



5 % It sends out irregular pulses of radio waves.

3 % It does not send visible light.

It sends out regular beeps of radio waves.
4.
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

Which of the following statements 1s true?
Options:

White dwarfs are less voluminous than red giants.
1.4

Pulsars always send beeps of visible light.
2. ®

3 % Pulsar eventually become neutron stars.

In catastrophic implosion. neutrons can withstand gravitational compression.





